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READ THESE INSTRUCTIONS FIRST

1.    Answer ON THE QUESTION PAPER by completing each question as  instructed.
2.    Work quickly.  If a question seems hard, skip it and come to it later.
3.    You can make your answers quite short and clear.  A correct answer will score 
        marks, even if it is short.
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1.	(a)  	Why is it important for a farmer to rotate the growing of vegetables on the same piece of
          		land? Any three reasons.       
(i)        ______________________________________________________________
(ii) ______________________________________________________________
(iii) ______________________________________________________________	(3)

(b)  	Why would you recommend leafy vegetables to follow legumes in a rotation? 
____________________________________________________________________
_________________________________________________________________	___	(2) 

2.          (a)   	Why is a mulch removed immediately after emergence of seedlings?  
 	____________________________________________________________________	(1)
(b)   	Why is mulching important in vegetable production?  Give any four reasons.
         	(i)	 _____________________________________________________________
(ii) _____________________________________________________________

(iii) _____________________________________________________________
(iv) _____________________________________________________________	(4)

3.	(a)  	Calculate the profit made per hector in each of the following crops
(i) Maize grown on 5 Ha made a profit of E 3 000
	_____________________________________________________________	(1)
(ii) Beans grown in 2 Ha made a profit of E 2 000
_____________________________________________________________	(1)

(iii) Potatoes grown in 0.5Ha made a profit of E2 000 
______________________________________________________________	(1)
(b) 	Which crop would you decide to increase its production in the following season?
Give one reason for your answer
		(i) 	Name of crop: 	_________________________________________________	(1)
      		(ii) 	Reason for answer: ______________________________________________	(1)


4.	(a) 	Why is it important to measure the correct amount of chemical when spraying?
  		Give any two reasons. 
(i)	_____________________________________________________________
(ii) _____________________________________________________________	(2)

(b) 	If 25 litres of water is used with a 15ml of chemical to spray vegetables, how much water  
    	would you need if the chemical is 45ml? Show your working.

												(3)
5.	(a) 	Give any two biggest dams that have been constructed in the country?
(i)  	_____________________________________________________________
(ii)  	_____________________________________________________________	(2)

(b) 	How will the dams improve farming activities? Give any three ways
(i)  	______________________________________________________________	
(ii)  	______________________________________________________________
(iii)  	______________________________________________________________	(3)






6.	How is the use of machinery in a farm better than the use of oxen? Give five ways.
(i)	___________________________________________________________________
(ii)  	____________________________________________________________________
(iii) 	____________________________________________________________________
(iv) 	____________________________________________________________________
(v) 	____________________________________________________________________	(5)

7.	(a) 	Suggest any three things a farmer could do to his tools and implements to ensure many
years of usage. 
(i)  	_____________________________________________________________
(ii)  	_____________________________________________________________
(iii)  	_____________________________________________________________ 	(3)

(b) 	Why should safety precautions be followed all the time when using tools? Give any two 
      	reasons.

(i)       ______________________________________________________________
(ii)  	______________________________________________________________	(2) 

8. 	What problems could arise from late harvesting of the following crops?
(a)  	Beans: ______________________________________________________________ 	(1)
(b)  	Maize:
(i)   	_____________________________________________________________
(ii)  	_____________________________________________________________	(2)



(c)  	Cotton: 
(i)	_____________________________________________________________
(iii)  	_____________________________________________________________	(2)


9.	Give any five signs of a healthy chicken.
(a)	____________________________________________________________________
(b)  	____________________________________________________________________
(c) 	____________________________________________________________________
(d)	____________________________________________________________________
(e) 	____________________________________________________________________	(5)

10.	State any five differences between  a natural and a commercial forest .
(a)  	____________________________________________________________________
	____________________________________________________________________	
(b)  	____________________________________________________________________
____________________________________________________________________
(c)   	____________________________________________________________________
  	____________________________________________________________________	
(d)  	____________________________________________________________________
____________________________________________________________________
(e)  	____________________________________________________________________
 	____________________________________________________________________	(5)






11.	State whether the following statements are True or False 
(a)	Pawpaw grows best in the Highveld 		__________________
(b)  	Frost kills pawpaw				__________________
(c)  	Pawpaw is a good source of proteins		__________________
(d)  	All fruits are good source of proteins		__________________
(e)  	Eating citrus fruits may help prevent flu		__________________			(5)


12.	What five things would you consider when buying rabbits? 
(a)	__________________________________________________________________________
(b)  	__________________________________________________________________________
(c)	__________________________________________________________________________
(d)   	___________________________________________________________________________
(e) 	___________________________________________________________________________	(5)

13.	(a) 	Give  any two products you would get from goats? 
(i)  	____________________________________________________________________
(ii)  	____________________________________________________________________	(2)

(b)  	Why would you prefer to keep goats instead of cattle in your farm? Give any three
 	reasons.
 
(i)  	____________________________________________________________________
(ii)  	____________________________________________________________________
(iii)  	____________________________________________________________________	(3)







14.	Suggest how you would correct the following problems in farming:
(a)  	Rabbits refusing to mate: ________________________________________________
_____________________________________________________________________

(b)  	Too  many cattle in a pasture: ____________________________________________
____________________________________________________________________

(c)    	Rats being able to enter into a crib: ________________________________________
____________________________________________________________________

(d)  	Visitors bringing diseases into a broiler house: _______________________________
____________________________________________________________________

(e)   	Strong winds passing through a garden: ____________________________________
____________________________________________________________________	(5)



15.	Give one word which is described by each of the following sentences:
(a)  	An estimate of costs and returns.				_________________	
(b)  	Costs that are specific to an enterprise, such as fertiliser.		_________________	
(c)  	Loss in value of an item over time.				_________________
(d)  	An estimate of how much an item is worth.			_________________
(e)  	Availability of goods or services to customers.			_________________	(5)


16. 	What is the use of each of the following records in a farm?
(a)  	Diary: _______________________________________________________________
____________________________________________________________________	(1)

(b)  	Financial Records:
(i)  _________________________________________________________________
(ii) _________________________________________________________________	 	(2)


(c)  	Health Records: _______________________________________________________
____________________________________________________________________ 	(1)

(d)  	Breeding Records: _____________________________________________________
____________________________________________________________________	(1)	
17.  	(a) 	In what four ways could humus benefit the soil? 
(i)	____________________________________________________________________	
(ii)  	____________________________________________________________________	
(iii)   	____________________________________________________________________
(iv)        ____________________________________________________________________		(4)

 (b)  	What type of plants may fix nitrogen into the soil? 
____________________________________________________________________	(1)

18.	(a) 	Why would you advise a farmer to practise intercropping?  Give any three reasons.
(i) _____________________________________________________________
(ii) _____________________________________________________________
(iii) 	_____________________________________________________________	(3)

 (b)  	Give any two methods of planting field crop seeds.
(i)  	___________________________________________________________________	
(ii)  	___________________________________________________________________	(2)







19.	Figure 19.1 shows the response of crop yield to the amount of fertilizer application. Use the figure to answer the questions below.
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(a) 	(i)	 At what point do you think it is not effective to add fertiliser? 
___________________________________________________________________	(1)
(ii)  	Why would you advise a farmer not apply fertiliser beyond this point? 
___________________________________________________________________	(2)
(b)  	Give one example of each of the following groups of fertiliser
(i) Inorganic fertilizer: ____________________________________________ 	(1)
(ii) Organic fertilizer : _____________________________________________	(1)

20.	State the condition of a good layer against each characteristic below. 
(a)	Comb: _____________________________________________________________
(b)  	Vent: ______________________________________________________________
(c)  	Eyes: ______________________________________________________________
(d)  	Pubic bones: ________________________________________________________
(e)  	Moultling: __________________________________________________________	(5)
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